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Duesian 1. The disiance betwsan tha Two siumps of crcket pach s
{ Cowract Anmweer Mark 4 Wiong Answes Mark [Megative Mark) - 035}
Dptions:
) 18 yards
} 22 maiers
1 18 matars
}22 yands
e § Anawer I
moi B AN

Deston 2 Ha is Eunopasn
| Commeact Answer Mark 1 Wrang Answer Mark (Negative Mark) - 0L35 |
Dplions:
1a
Jan
| Tha
} Mo of theso
o | ANSWEr &
ni IIH'_:“.I"

Dueston 3 Pick the most suiable one wond substbuie: One wihi is unable 1o pay his dabis
i Cioerect Anmwer Mark : 4 'Wrong Answer Mark (Negatine Mank) - 025}
Dprtions:
1 Dptimist
| Lapidisa
| Fatalis
} Insolvent
oire © Angwer: Wsoteant
m i e Answer: Lopidist

Dueston 4 The author of the book * Rabooteng Govenmmeant”
{ Cioamect Angwer Mark & Wirong Ansyser Mark (Megatin Mark) - 0.25 §

Dptions:

| Pranab Mukharea:

}Ann Jaitlay

} Manmaian Singh

| Hardam Mikolcans

oere t Answer: Mandan Hikkani
noi beAnswer Anan Jatey

Quastion 5. Pick the synamym for the word “Zaal®

{ Ctresct Angwer Mark 3 Winang Answes Mark (Negative Mark) - 0.95 )
1 Hazasdous

} Comnatation

| Pagskn

b Initiation

e | Answer: Pasoion
n i e Answer: Passon

Queston &. The total number of digis in LIDA Aadhar
{ Commect Answer Mark: 1 Wiong Answes Mark [Negathos Mari) - 0.25 )
Options:
j12
113
114
}18
oo | Answer: 12
ni b Answer 15

Quasian T The study of sarih quaks |s knevn as
{| Dioemeect Aresweer Mark: : 2 Wru'lghmuarlm.g:nnuaru 0Is)

Dptions:

1 Blalogy

} Seismology

| Ecalogy

| Theology

oeTe t Answer: Solsmokogy
0 beAnSwer Sesmoiogy
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Question 8. Which Technology Giant has sgreed 1o provide wi-il hotspot a1 500 Raih
{ Comect Answer Mark: 2 Wrang Answer Mark (Negathe Mark) - 0.35

Quasian @ To whomm, highest civilian award of e Indan Govemment * Bharat Raing” was awsrded dunng 3015

§ Dot Anwer Mark - 4 Wrong Answeesr Mark (Megative Mark) - 0025 )
Options:
| Gt Prakash Singh Badal
}5ri LK Advani
1'5mi. ME Subbulaishm
| Eri Abad Bihar Vajpayes
oere | Answer: Sn Alal Bihari Yajpayse
n i teAnswer: S Atal Bihan Vagnayes

Quesan 10. The President of Inda can be removed fromi his office on the recommendation of the

i Comect Answer Mark © £ Winong Answses Mark (Negative Mark) - 025 )
Options:

| Buprema Cort

| Cheed Jusiics of Inda

} Lok Sabha

} Tweo Houses of Padament

oere | Answer: Two Houses of Pardiament
n i teAnswer: Two Houses of Pariameant

Ouesian 11 Pick the comeot Antonym for the word “Valdaie®
{ Comect Answer Mark: 1 Wrong Answes Mark (Megative Mar) - 0.25 )

oere t Angwer: D prove
m i e kngwer: Disprove

Quasiaon 12 How many hours is 15T ahead of GMT
{ Ciewmeact Angwesr Mark 7 Winong Answes Mark (Negathe Mark) - 0.25 )
Dptions:
| +5:00
j+5:30
#0600
}+8:30
oime § Answer: +5:30
n i EmAnswer: £530

Questan 13 Tha 24-¥m long Hiraku Dam is locabed at the bonder of
{ Cormect Answer Mark: 2 Wrang Answes Mark (Negathe Mark) - 0.25 }
Options:
| 'Dissa and Bihar
) Orssa and Madhya Fradesh
1Bihar and was1 Bangal
} Machya Pradesh and Sharkand
oare | Anawer: Cvissa and Madina Pradash
n i teAnswer: Orissa and Madhya Pradash

Dueston 14 Which Indan subsidy is workd's rgest deect benafit coheme
i Coeract Anawer Mark -1 Winong Ansvesr Mark (Negative Mark) - 0I5
Options:
1UPG
| Farmilzors
1 Food for woek
} Dzl
oaTe ¢ Answer: LPG
ni eAnawer LPG

Dueston 15 Moon rewsshes round the aah in
{ Comect Anawer Mark : 2 Wrong Answesr Mark (Negatie Mark) - 025

1ar

T H

1aT %

28

oamE § Answer: T B
ni ieAngwer 1T R

Dueston 16 Which of the followsng personalibes & known as “Matro Man™
{ Ciomeact Answer Mark T Wirang Answer Mark (Negathe Mark) - 025}

Options:
| P Chamdam
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} Elatturvalapil Sreadbaran

| Tessy Thomas

} Man Miohan sarma

oere | Answer: Elstiuvalapil Seedharan
noi beAngwer: Eabiuvalapd Srosdhiaan

Queston 17. Tha stabe in India with less liferacy rabe as per 2011 census
i Coamect Answer Mark (£ Winong Answses Mark (Negative Mark) - 025 )
Options:
=
| Jharfkand
Janmachal Pradesh
| Biibaar
oame § Answer: Bihar
n i EeAnswer: Bifar

Duesiaen 18 AR which place IR0 has set up the world's highsst Teresinal Fiesearch Cenire?
{ Doemect Angweer Mark |3 Wiong Answes Mark [Megathe Mark) - 0025 §

Dptions:

1lah

]}5{!1

} Anantrag
oare § Answer: Ladakh
n i feAnswer: Leh

Doesian 19 The 2016 sumemer Olympics wall ba hedd in COWNTY
{ Ciewmeact Angwsr Mark 4 Wirong Answes Mark (Negathe Mark) - 0.25 )
Dptions:
J Chuna
}India
| 5ri Lanka
| Brazal
oame © Angwer: Srazil
m i toAnseer: Brazil

Queston 20 Telscom Requlstory Aulhoaty of India {TRAI was established in
{ Comect Answer Mark 03 Wrang Answer Mark (Megates Mark) <025 }

Dpriions:
119493
J 1995
119a7
§ 199
oame | Anawer: 1507
i Beknawer: 10499

Duesiion 21 Kg m¥ per ssc is B und of
¥ Dot Anwer Mark 03 Winong Answeesr Mark (Megative Mark) - 0025 )
Dptions:

| ansagy
} Momantum

| Angular Momenaum

| Porar

oare § Answner: Anguisr Momsndum
n i tEAnswer: erangy

Queston I2 UJT may be betier used as
i Cowreect Ancwer Mark -4 Winong Ansvwes Mark [Negathe Ma) 025
Options:
| Aamplifies
| Clampes
| R feor
| Eaw-Tooth wave Generator
e | Answer: Saw-Tooth wee Genarator
n i toAnseer: Aactifier

Queston 73 An idead voltage sowce will charge an ideal capacios
{ Comeact Answesr Mark 3 Winang Answer Mark (Megathe Mark) - 025 |

oare | Anawer: Instanianeously
i BeAngwer: Instanianoously

DQuestion 24. Tha veciors having the sams inifial point am celed
{ Cowmect Answer Mark 3 Wiong Answes Mark [Negathe Mani) - 0.25 )

Dptions:

1 Position weciar
} Fres vactor

) Ciorinstial Wechor
¥ Uinit Wector

oame & Answer: Co-inibal Yector

The Information Provided here is only for reference.

It May wary the Original



www.sarkariresults.io
n i teAnswer: Co-dnitial Vector
Duesiion 35
I a' de
| Costresct Angwer Mark 1 Wirang Answes Mark (Negative Mark) - 0.95 )

Dprtions:
1

x

a

loga
pat
JLogate
]

+c

Droesn 20
=2
j s’ x dx
| Corect Arawer Mark 12 'Wrong Answes Mark (Negatiee Mark) - 0,25 )

Dprtions:
1

1(14;5.1-1;‘:]4-:
)
L
A= 5 Sindx H e
1

! Smzv)ee
}
! fx- Conia)ec
i[:— 13m:z}+:
o B Anseer

i
L E= 1Srr|_‘|:'H-:

Duesiaen IT. Waves travelng ugh & sohd e
i Dioemeect Arsweer Mark - 3 ﬂmmuﬂwmum'nﬂs[

Dptians:

| Transvarse waves

} Longituding waves

| st of tha both

| Hons:

oere | Answer: sdhes of tha both
noi b Angwer: TIanSversd Waves

Quaston 28 Binary numbers can be commened o Hexadecimal numbers by groupsng bas inbo growp of
I-mmrrnlnm'rgnf e

{ Ciwmeect Angwesr Mark 3 Winang Answes Mark [Negathe Mark) - 0.25 )
Options:

J Thirgss béis, Right Mcesd b

} Thios bis, Most bt

1 Four bebs, Right Mosi b

} Eletoan bits, Laft Most b

oeme | Answer: Four bits, Right Most bit

m i toAnseer: Four bits, Right Most bt

Duesion 29, The ¥s complement of a Decimal s the
f Cowmect Anmwer Mark : 1 Winong Anvswesr Mark Mari) - 025 |

Dptions:
1 1's Complemant of the Excess-3 code for the Dagit
} s Complemant of the Excess-3 code for the Dugt
1 1's Comphamsen of the Exoess-4 coda for the Digit
} s Complement of tha Excess-# coda for the Dagt

starting feom and represenied each growp as
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oere | Answer: 1's Complemen of the Exoess-3 code for the Digit
n i teAngesr: s Complemant of the Excess-3 code for tha Digh

qmm.lnnmmnm:.lhumuflﬂ ]
i Coract Anawer Mark -2 Winong Ansvesr Mark (Negative Mark) - OIS

137
1}

4
}-3Ti

T §AnSWer:
nok b AnEeer |

Question 31. Tha detance between the parallal ines &u+Spe4=0 and 4e+liy+5=0 i
{ Commect Answer Mark: 1 'Wrong Answer Mark (Negathe Mark) - 025 }
Dptions:
J1sdE2
52
s
I
pare € Answer: 1 / ¥ 52
noi e Answer: |

Duaston 37 This lasor produced from stimulated emizsion has tha following charactanistio
{ Ciorect Anawer Mark : 4 Wirong Answeer Mark (Negatine Marnk) - 025}

Dptions:
1 Monochromabe
} Coharant
way nanow and collimated ray
} AN of the above

oere | Answer: A of the above
n i teAnswer: vory narow and colbmated ray

Quaston 33 The stabdization factor "5, of Fiusd bas croul =
{ Cemeact Angwesr Mark 1 Winong Answes Mark (Negathe Mark) - 0.25 )
Oprtians:
Vo= (140
FBigg= 1
1 S P
| Hong:
e § Anmwer: Dot (148}
noi e Answer: Mons

DQuestion 34 In 3 schmilt Trigger UTP=12¥, LTP=EV, the hysiesises ¥y, is
{ Covrect Angwer Mark 3 Wrang Arsowes Mark [Negative Mark) - .25 )

Question 35 Unit ook are also called as

{ Conmaect Anmwer Mark: 1 'Wrang Answee Mark (Negathe Mark) - 0,25 }
Options:

| Cyohe Codes

} Non Cyclic codes

JEmror codes

AN of the ahoe

oeve © Anmwer: Cyche Codes
n i feAnswer Cyclic Codes

Duastan 30 In @ sationary wae the distancs betwean a node and (1S SUCCSSSG antinodd s
o Dot Arswer Mark 0 2 Winong Answeesr Mark (Megative Mark) - 0025 )
Options:
Tz
e
va
11
oere | Answer: L4
m i beAngeer: 12

Queston 37. Kichoff's Yohage Law is known as
| Cowmeact Answer Mark ;2 Winang Answer Mark (Hegathe Mark) - 0.25 )

| Comsarsatsan of Chasna
| Conservation Enagy
1 Boih
| Hora
oeme | Answrer: Consaryaton Energy
n i beAnswer Conservation Enengy

The Information Provided here is only for reference.

It May wary the Original



www.sarkariresults.io

Dueston 384 0 bt flash bype ADC regures 1] ] ik
{ Comeact Answier Mark 3 Winang Answee Mark (Negathe Mark) - 035 )

Dptions:

1" Clock pulses
}"2n+1" Clock pulsas

| ana clock pulse
}"2n1" Clock pulsas

oere | Answer: one clock pulse
n i teAnswer: “n+1" Clock pulses

Duastan 30 Which of tha following is trus with respact 1o OC Amplifier [ Direct coupiod ampifiar)
o Dot Arswr Mark 8 Winong Answeesr Mark (Megatie Mark) - 0025 )

Dprtions:
| Capatic of ampidying OC signals
} is cesignad withowt use of amy coupling capactons at nput
1Foor Thenmal stabdiy
AN e above
oere | Answer: A 1ha above
ni beAngesr: isdesignod without use of any couping capaciors at mput

Queston 40 Yery smal-ume ntenvals am accuratsy measued by the
i Comect Answer Mark : 3 Winong Answses Mark (Negative Mark) - 025 )
Oyption:
) Pullsars
) Whels dwaris
Jddomie clocks
}Ouariz clocks
oeme [ Answer: Atomic clocks
no§ beAnswer: Aemio clocks

C,qmﬁnn-l!.h\n:hp—upt’nrdnrrmr.lhﬂmflmﬂm:I:2!&hmgﬂmﬂ¢nrﬂ15ﬂmw1ﬂidumuﬂwmw.ﬂmmtﬂgomtmmyu
{ Doamect Angweer Mark |3 Wiong Answes Mark [Meagatie Mark) - 0025 }
Dptions:
130V
FO.TEY
lav
J1.5%
oeTe t Angwer: 0V
i feAngwer: DTS

Dupsion 47 ERecirons i aboms snd mokouies can changs anengy kvels by emitling or atsorbing
{ Cimect Answar Mark 02 Winong Answes Mark [Negathe Mark) -0.25 )
Dptions:
1 Projoens
} Phoions
| dectrons
}.Al of the aboe
o § Angwer: Phoions
m i B Anseer: slecimas

Questaon 43 The capacitive affects of 3 reverse biased PH Juncton are descnbsd by
f Coamect Anmwer Mark: 3 Wiong Answser bark (Megatine Mark) - 0.25 )

oure | Angwer: Junction Capecitancs
n i ie&knswer: Diffusion capaciancs

Drupisiacen 44 mmufﬂww:bﬂnfﬂ:ﬁ&r!!:ﬂ

i Dioemeect Arswear Markc - 1 Mmmw“um-nxp
Hat)
M3
1-1.3)
M3

oare f Answer:( 3.1 )
mi beAnsweer (1,3

Dueston 45 Aslutance n Magnetic circulls s analoguss 1o N Slectne cinoust
{ Comect Answer Mar: 1 Wrong Answer Mark (Negathe Man - 0.25 )
Dypstions:
| Fesistanca
} Vahage
| cumreani
| Poraar
o | Answer: Fesistance
noi beAnswer: Aassiancs

Cueston 46 The Fip Flop whech acts as Frequency divides s
f Coamect Anmwer Mark : 3 Winong Arswesr Mark (Megathee Mark) - 025 §

Dptions:
1 5A Flip Flop
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1D Flp Flop

17T Flip Flap

| Mons:

oere | Answer: T Flip Flop

n i teAnswer: D FlipFlop

Queston 47. Thers ae aghl mmages of & candle which is kept in beteeen two plans mcrors. The angie of inclination of the plane miror is

| Comeact Answer Mark 3 'Wirang Answer Mark (Megathe Mark) - 0.25 )
Dptions:
60"
yoo*
[ R
} 45"
e | Answer: £0°
Nl beAnswer: BOC

Ouesian 28 The loop gainof a Schmitt Trigger is always
{ Doamect Angweer Mark ;3 Wiong Answeer Mark [Megatie Mark) - 0025 §
Dphions:
1o
}Lass than 1
| Gawater than 1
} Hona
oame § Answer: Graater than 1
n i beAngeer: Less than |

Cuesiion 43 Miler sweep has the following data A = 1K shms, © = 1 PF, V=10 Volts. lis swoep spesd is
{ Coumect Answer Mark -4 Wiong Answes Mark [Negathe Man) - 0,25 )

Dptions:

j1twrs

1108 wis

1104 wrs

p10' vres

sere § Answer: 100 v
n i teAnswer 0% s

Dueston 51 which of the followsng is not a charactens b of ideal Opesrational Amplifior
{ Cioerect Anmwer Mark : 4 Wiroang Answeer Mark (Negatine Mank) - 025}
Dprtions:
1 BW = 0o
) Pasfiect balance Vi = O wihen W, = Wy
|G 15 - 00
) Input FessENcE 15 Zero
oere | Answer: input resistance s Zeno
n i beAnswer: Porfect balance Wy = 0 whan Vi = Vg

Oueston 511§ ATz &1 whero & is read matri, than A& s
o Dot Arswer Mark 8 Winong Answsesr Mark (Megatie Mark) - 0025 )
Options:
| Hormal
} Symmanic
Harmitan

} Dmhogonal
oere | Answer: Orthogonal
m i teAngeer: Orthogonad

Queston 52 When the inpul (o 3 seven segment decoder is 0100 the number on display will b
i Comect Answer Mark © 3 Winong Answses Mark (Negative Mark) - D25 )
Options:
iL!]
J2
4
L]
o | Answer £
moi EeAnswer: 4

Duastan 53 which of the followang muhi wibrator is aiso caliod as Encles-Jordan Circuit in aerly days
¥ Ciowreect Angwsr Mark : 1 Winong Answses Mark [Megatine Mardk) - 0025 }

Dptions:
1 Bistabla Multivibraios
| Monstable Mults vilirabor
| Astabie MuliyitiEbor
1A of the above
pare f Answer: Bistable Mullivbeaton
n i beAngwer: Bistablke MuRtdbrator

DQuestion 54 Tha relatie pammabdty g, is given by
{ Cowrect Answer Mark: 1 Wiong Answar Mark [Megative Mari) - 0.5 )

Oprtions:
1B H
VBH
1HE
| Hona:
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oame © Answer: 8/ W, H
ni teAnswer: None

Queston 55 The namber of HAND Gates required 1o smplemant Ex-0R and Ex-MOA gales &g
{ Comeact Answer Mark 3 Winang Answes Mark (Megathe Mark) - 025 )
Options:
j2and3
b3and 2
j4ands
4 and 3
oame | Answer: & and §
n i EeAnswer 4ands

Do 56 A netvwaork which comiain ong o moes than one sowes of amd i onown as
{ Ciorect Anmwer Mark : 1 Wirong Answeer Mark (Negatine Mark) - 025}

Dptions:
1 Active Mtwiork
} Passive Matwork
| Eleciric Matwork
 Hiore of the abowe
ofre | Answer: Actaa Metwosk
n i beAngwer: Active Motwor

TREDCtraly

Questan 57 The equatin of the hyperbola of sccentricity 3 and the distance botwean wioss focs 24 is

| Comect Answer Mark: | 'Wrong Answer Mark (Negatie Mark) : 0.25 )
Options:
jo my? = vzm
a4 =128
11l 4% = 128
} Hong
oeme t Answer: v -3y = 128
n i beAnswer: Ex” 4 = 128

Dt 58 i @ drmensioniess guanity
{ Ciomeact Answer Mark 0T Winang Answer Mark [Negathe Mark) - 035 §

Options:
| Gravity
| Speacific Gravity
| Doty
| aroadanat i
oeme § Answer: Specific Gravity
n i teAnswer: Spoecdc Grasity

Duaston 50 Access Tima in Memories is agual 1o
o Dot Arswr Mark - 8 Wiong Answsesr Mark (Megative Mark) - 0025 )

}sumi of all the above
oere | Answer: siem of all the above
n i teAngwsr: Trarsfer Tims

Queston &0 “Tha direction of an induced emf is such that & will always opposes the changa that is causing” Thes law is called &

i Comect Angwer Mark © 2 Winong Answses Mark (Negative Mank) - 025 )

Opticns:
| Kirchiffs Laws:
b Lanzs Law
I Faradays Law
| Hora
came | Answer: Lanzs Law
n i teAnswer: LenzsLaw

Ouesian &1 which of the followeng configuraben & used for Emitier follower Amplifier
{ Comect Answer Mark ;3 Wrong Answes Mark (Megative Mard - 0.25 )

Dptions:

1 Cismiman Bass

} Cosmimaan Emittar

JComman Colector

| Hora

pare § Answeer: Comnman Colicion
n i teAnswsr CommaonBase

Quasion &7 The area of the cooke with centre at (1,2} and pas sng throwgh (4.5) &
{ Cowrect Angwer Mark 07 Wiong Answes Mark (Negathes Mark) - 0.25 }
Dptions:
J B s, unwis
}25m sq. uniis
1 29N 5q. unis
| Homa
oTe § Angwer: I5n 5q. uets
n i e Anawer: 15nsg units
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Duasian &3 Shift laft by ‘o positons in Shift Register s equnalan o
i Coract Anawer Mark -3 Winong Ansvesr Mark (Negative Mark) - OIS
Dptions:
| Muiti plication by "2
} Addition by “Zn”
) Do by “Im"
} Hona aof the abowvs
oame § Answer: Devison by “Zn°
noi feAnawer: Multlinbcaton by "2n0

Duaston &4 Laakage curment n the Slicon semscondouor is i the order of
| Commeact Answeer Mark : 4 Wirong Answes Mark (Hegatha Mark) - 0025 )
Dphons:
| Amps
il Annps
I mioim Ampa
} nani Amps
oame | ANSWE: nano Amps
n i teAnswer: mecro Amps

Duestaon 5. Tha brigor Foumer saries of @ penodic time function can have only
{ Cioerect Anmwer Mark : 3 Wiroang Answeer Mark (Megatine Marnk) - 025}

Options:

J Cosing ignms

| Bira farms

e © Answer: Cosing & Sing tenms
n i feAngwer: Cosing B Sing tems

Dueston &b Two long paraliel conducions camying cuments in opposie desctions sach oihar
{ Ciosmeact Answer Mark T Winang Answes Mark (Hegatie Mark) - 0.25 )

| Adtract
¥ Raped
| Mooffect on
} Hona of the above
oare | Anawer: Fopal
m i EeAnswer: Albvact

Duestion 67 Thi power CONSUMSd by & puns canacibor i
o Dot Arswer Mark 8 Winong Ancswsesr Mark (Megatie Mark) - 0025 )

Dprtions:
11w
JO.EW
Joo W
Jow
e § Anawer: 0w
n i beAngeer: Ow

Queston &5, Tha Odd Panty is genarated by
| Ciowmeect Answer Mark 2 'Winang Answes Mark [Megathe Mark) - 0.25 )

1 Ex-0R Oats

} Ex-NDR Gate

| NOT Gats

b AN e above

e | Answrer: Ex-HOR Gabte
n i beAnswer: Ex-OF Gato

Diuesin &3 Two of 2 oF and JF ase connected I senes across 10V, The poteniial differance across ihe 2 pF capacior will be
¥ Dioarmect Answer Mark 0 2 Winong Answsesr Mark (Megative Mark) - 0035 )
Dptions:
14w
poy
v
poy
o Answer: OV
n i beAngeer: oV

Quasian 70 In @ transtormer, tha rato of grimary to secondary is @4 If power input is P, what will b the ratio of power cutpul o the powar input
{ Ciemect Angwer Mark 4 Wirong Answes Mark [Negathe Mark) - 0.25 )
Options:
iR
jo4
g+ ]
11
e Anawer 11
n b i Angwer T4

Ouasian T1. The phs of bending of Sght at e surface of separaton of twa meda having ddferent R is called
{ Comect AnswerMark 3 Wrong Answes Mark (Megative Mar) - 025 )
Dptions:
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| Deleectecn of Light
} Refiaction of Light
| Riefraction of Lighd
| atsonption of Light
[ 0] Il_rnllm:unnnll?'ll
n i teAngwsr: Daflaction of Light

Queston T2 Tha sum of two unit veciors is @ Wit vecior. The magniuds of thar défersnce is
i Corect Answar Mark © 2 Winong Answses Mark (Negative Mark) - 025 )
Options:
12
| R ]
j+2
k1
o | Answer « 3
noi EeAnswer 1

uesiion T2 An ber of {234,853 is
{ Commect Angwer Mark : 2 Wrong Ansveer Mark (Megatiee Mark) - 0.25 |

Dphions:
1{106.703) 5y
J150. TaT); 5
1148, 7030
(308703,
pere ¢ Answer: {156.703),
n i teAnswer: (150703}

Duesisan T4 To comer Calsaus (Canligrade) i Fabrenhest
i Cowreect Angwer Mark - 1 Winong Ansvwes Mark (Negathe Mang) 0025 )

Dptions:

| mustiply by 1.8 and add 32
}subiract 32 and deide by 1.8

I multiply by 32 @nd sdd 1.8
}subiract 1.8 @nd devide by 32

oame | Angwer: multiply by 1.8 and sdd 32
n i teAnswer: Moy by 18 and add 32

Cueston TS Martan's Theorem results in
f Coamect Anmwer Mark: | Wrong Answesr Mark (Megatie Mark) - 025 )

} a Current source weth an mpedancs in Paalki
|8 Violtage Source weih &n Impedance in seres
& Wolage source alone
)@ Crsmend Sousce @ons
oere | Answer: & Curment source with an impedance in Paralisl
n i ieAnswer: a Curent source with an impedance in Parallsl

Dueston Ta If 8 s the angla betwean Two lines whase slopes are my &my , then Tand =
| Costresct Angwer Mark 3 Wirang Answes Mark (Negative Mark) - 095 )

Oprtiion:

1y - my

Jimy ¥y

Ty - [T+ my Mk
Vi ~img) f (1-m, mgh

oame § Answer: {my - mgh £ {1+ my mg)
b i Answer (ms - el (E mymgd

Quaston 77 & sining of £ bets is called 25
| Commeact Answer Mark : 4 Winong Answer Mark (Negative Mark) - 0L35 )

Options:
1 BiE

I Byt
word
} Hibbia

oame § Answer: Mititks
n i teAnswer: Mibbi

Duastan T8

B cosechx

a

{ Cowmect Answer Mark T Wiong Answes Mark [Negathe Mang - 0.25 )

) oosechs coihs
|~ oo her codhx
| -s@chy cothe
} s@cho oothe
oame | Angwer: - cosechs cothe
m i toAnseer: -oosechs cothe

Queston 7O Divide by 78 counter can ba maleed using
{ Comect Answer Mark - £ Wrong Answes Mark (Negative Mark) - 0I5
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Dptions:
18 number of mod-13 counters
} 13 numibser af mod-6 cowmarns
113 number of mod-1 3 counters
}-one mod-13 counber followed by one mod-& counter
oare t Answer: ong mod-13 counter iolloved by one mad-0 counier
n i teAngesr: & number of mod-13 counlers

Duesnon 50, |solopes are aboms that have
{ Comect Answer Mar: | Wrong Answer Mark [Negathe Man - 0.25 )
Dypstion:
|- Eanme ainenic rusmber buk different alomic mass
} Eame abemic mass buk déferent stomic numbaer
| Sama Mumbss of Prodons bt diffesent numbss of slectrons
| Hona
oeme | Answer: Same aiomee numitss but difforent atomic mass:
n i toAnseer: Same Mumber of Protons but dfferen mumbsr of eectrons

Question 51 Mass and weight
{ Comect Answar Mark: 2 Wrong Answes Mark (Megathe Mar) - 0.25

| ane same quantities
| Ane different guanttiss
1 Ho relation batwsen theem
AN of the above
oere | Answer: Ase different quaniibes
n i ieknswer: Are differeni guantiiles

Duesisan 52 when & lead acsd cell is sechangsd
i Cowract Anawer Mark -8 Winong Answesr Mark (Negative Mark) - OIS
Dptions:
| The anode becomes dark chocolals browm colour
} Valage noes
JEnergy is absorbed by the col
b Al of the abova
oame t Angwer: A0 of the above
n i toAnseer: Yollage nses

‘Duaston 53. Logc axpressions can be simplified by using
{ Comect Answer Mark: 4 Wrang Answesr Mark (Hegathe Mark) - 025 )

| Tabulation Mathod
}Any of the abowe mathods
oame | Answer: Ay of the abowe mathods
n i tmAnswer: Any of tha above methods

Duestan 84 Ini am PY junction deplsbion layor ks creabed dus to
i Coract Anawer Mark -3 Winong Ansvwes Mark (Negative Mark) - OIS

Options:
} Duffusion of ons
) Diffusson of kinonty carkss
| Duffusion of Magority camens
} Diffusion of Minonty & Magoaity camars
e | Answer: Diffusion of Magorty carmers
n i teAnswer: Diffusion of Majority camens

Doesiin 35 Fad the value of &, if the equabion 3'[115!)‘?“]'1 =0 represents perpendcular lines
{ Ciemeact Angwesr Mark T Winong Answes Mark (Negathe Mark) - 0.25 )
Dptions:
13
-3
1a
(E:}
oime § Answer: -3
n b i Answer -3

Dueston 38 |sobopes are abtoms that have
{ Coamect Anawer Mark 1 Wrang Ancwas Mark (Megatie Mark) - 0.25 }

Dptions:
| Earme atcmic nsmber but ditlerend alomic mass
} Same abmmic mass but déferent atomic numbser
1 Sama Numiber of Prosons bt diffissent numiber of alectrons
} Hona:
oame | Answer: Same atomes numises but different stemic mass
n i ieAnswer: Sama Mumbsr of Protons but défersnt number of elecirons

Doeston 37 The nasmber of 277 MUY mouined o maks 841 MUX s
i Coract Anawer Mark -4 Winong Answesr Mark (Negative Mark) - OIS
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oare § Answer: 21
m i EeAnswer 27

Duaston B2 which ons of the following s not a unit of time
{ Ciorect Anmwer Mark : 4 Wiroang Andwer Mark (Megatine Mank) - 025}
Dptions:
1 Mz second
} Escand
1 Year
| Light year
e | Answer: year
n i teAnswer: Light yoar

Duesten 59 Posfive feodback = used o
{ Comect Answar Mark: 3 Wrong Answer Mark [Hegathe Man) - 0.25 )
Options:
| Arnplifiers
} Ractdiors
1scillstors
| Hora
e | Answer. Cscillators
n§ bmAnswer: Oscilllabors

mm.mmmnmwn{m@hlm:’wﬁpﬂn
| Commeact Answeer Mark 4 Winang Answer Mark (Hegathea Mark) - 0,25 )

j45"
) an*
1200
Joo*
e Answer D0°
n i e Answsr 457

Duesian 91. Boha is hoeed dus (o
{ Ciorect Anmwer Mark : 3 Wrong Answeer Mark (Negatine Mank) - 025}
Dprtions:
| Refrachon
} cattaring
| Rffiection
} Inberfarenae
e | Answer: Reflechon
n i teAnswer: Refiection

Duestien 92 Asce aound condibon cccur in JK Fip Flop is due bo
{ Comeact Answer Mark T Wirang Answes Mark (Hegathe Mark) - 035 §

Options:
| The chnck time pariod is fes s than propegation delay
} Thes ol limme panied i greatar than ponagation deley

| ek b gy

} Hona

e | Angwer: The clock tima posiod (s atar than pro pagaton delay
mob B Answer m:mkh‘mmmdfgmﬂm propagation delay

Quaston 93 Far a 12 b A/ convedior tha rangae of input signal & 0 1o #10Y. Tha voltage comesponding o1 LSH will ba

o Dot Arswer Mark 0 3 Winong Answeesr Mark (Megative Mark) - 0025 )
Oprtin:
1o
V00017
| nonzav
}0.833Y
odre | Answer: 00024y
noi o BeAngeer: 00012V

Queston 4. As frequency ncreases, the magnetic fiux inside a conductor
i Comect Answer Mark (2 Winong Ansvses Mark (Negative Mark) - 025 )
Opticns:
| Increases
} Decroases
| Remaans canstant
| Mo of the above
o | Angwer: Decraatas
m i BmAnswer: Aemains corsiant

Dhuesicen 95 Faned e angle: betwsesn bwo veoioes & and b weth s 3 and 2 ly hiarwing a.b=v

{ Comect Answar Mari: 1 Wrong Answer Mark (Megathe Mark) - 0.25 )
Dptions:
145"
ren”
a0
yan®
e Answer £57
n i teAnswer 300
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Duestecn B8 In 3 class-B amplifien the oubpul cumend Tlows for
{ Cioamect Angwer Mark © 2 Winong Ansvser Mark (Megatine Mark) - 025 §
Options:
ik
} 1807
| Moirs e 1807 and less than 270°
§ano”
oere | Answer: 1807
m i feAnswer: 1E0°

Dueson 97, Thi und used i Measus tho SUPSTEOnG Spesd =
o Dot Answer Mark 0 2 Winong Answeesr Mark (Megative Mark) - 0025 )

Queston 8. Fvs mamaory chips of 16 X 4 s@e have their address buses connected together. This system will beof sie
i Comect Answer Mark © 2 Winong Ansvses Mark (Negative Mark) - 025 )

JIBK 16

} 16 % 30

JH 8

} 16 a4

ere | Answer: 16 X 20
ni beAnswer 16X 20

Duesisn ¥ The curnent in capaci e Cooufs I:hlluul‘lnqn

¥ Dot Answer Mark 0 2 Winong Answees Mark (Megative Mark) - 0025 )
Dptions:

1 Lamys

} Laads

1 Inphass with

| Mora of the abowe

oare § Answer: Leacs
noi o BeAngeer Loads

Duesian 100, The most stabke sine wave oscilator with most sampke cicit s
{ Cowrect Angwer Mark 4 Wiong Answes Mark (Negathes Mark) - 0.25 }
Opticna:
| Codpits
F Anmistiong
1 Phase-shift Ciouit
}Crysaal
oeme § Answer: Crystal
n i toAnseer: Phase-she®t Corousn

Question 101. & semi conductor when placed at 07 ¥, will act as
f Cowmect Anmwer Mark 1 Winong Answear Mark (Magatie Mark) - 025 §

Duasiaon 102 With refarsncs to the sarly affect im Bspolar Junction Transesiod (BUT), the phanomsnon of Punch theough ocours whan

{ Cowmect Angwer Mark 2 Wrang Answes Mark (Megative Mark) - 0.5}
Dptions:
1 affectss Collector wedih i brought bo T
}affectrre Base width s browsgh io T
Jaffective ammiter wath is brought bo T
} Hora
oame § Answer: #ffactive Bass width is brought to ‘0
m i teAnseer: etfoctive Coliector width is browghi 1o D7

Duestion 103 The Battery will gat wanmy, whan we iy bo send 100 much current thonsgh batieny. This = mainly dus ta
| Commeact Answer Mark 03 Wrong Answes Mark (Negathe Mark) - 035 )

Dphions:
| Batiery manufactunng datect
} Dus to defect of connecied Load
| internal Resstance of the Battary
} Hona:
oame | Answer: niemial Resstance of the
n i tmAnswer: Insemal Assistance of the Bamery

Duesten 104, The nductson ool works on the prencspla of

i Conmect Anmwer Mark © 2 Winong Answses Mark (Negative Mank) - 025 )
Options:

| Salf-tmducticn
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| Musual reduction

lampon's Ruls

} Flumings Right Hand nida
e | Answer: Midus] Inou bon
n i teAnswer: Se-Induction

Queston 105, H the veciors 2r3j+h , Irvg+a ane orihogonal then x=
| Ciowmeect Angwer Mark 2 'Wirang Answes Mark [(Megathe Mark) - 0.25 )
Options:
12
14
j2
3]
oere | Answer: 4
Nl teAnswer 2

Guasian 100 A coll having an nductance of 150 mH is camying & current of 5 Amp. if the curent s reduced bo 2en in T milll seconds, the sefanduned ami will be

i Doemeect Arswear Mark - 4 WWMMWMMJM'D.B[

128

JaTEw

Y

} 750V

oame § Answer: TS0V
noi o beAnseer: 1250

Queston 107. Sound cannat raved theough
{ Cimect Angwer Mark T Winong Answes Mark [Negathe Mark) - 0.25 )
Opticns:
J Gases
| Wasrumem
Jmofids
} Liquids
e | AnSwer: WVacuum
m i toAnseer: Yacuum

Queston 108 Ina N-channel JFET, Drain cusment s mauimum when Gate Woltage Ve is
§| Coaresct Anemwer Mark - 3 ﬂrwqmmwmmm-uzr

Options:
| qual b #Vpg
| maawhan to + Yoo
Jeequad bo 0 wolis"
AN the above
oame | Answer: equal fo 0 vols®
noi beAnswer: eoual to+¥nn

Ouasitn 1068 is @ unel used in o asino 3 0 {®ux density) of radeo signals from space

e

{ Comect Armwer Mark: 2 Wrong Arswer Mark (Negatia Mark) nzp

Duestion 110 These ane used for bloodkes s surgary
{ Coerect Anmwer Mark : 3 Wiroang Answeer Mark (Negatine Mank) - 025}

oire § Angwer: Lasers
n i e Angwer: Lasers

Dueston 1171, when a une sbep input is applied to a perfect ntegrator, the output will be
§ Cosrect Answer Mark © 2 Winong Ansveer Mark (Negative Mark) - D25}

Dptions:

| boundad

} unbodsnided

| Femaing oonstant

} is Lty

oeTe | Answer: unbounced
n i feAnswer: unbounded

Duesban 112 1o dacrats ms 5 used bo obtain transier funchon
{ Cioerect Anawer Mark : 2 Wiroang Answeer Mark (Negatine Mank) - 025}
Dptions:

1 Lagplacas Transioom

} Z-Transfom

]BI:HI'I

| Hona

oame | Answer: Z-Transfomm
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n i teAnswer: I-Transfom

Quesian 113 whan thens is a vanation of load resistance, Whech of the following DC Generator can nob deliver power ok constant woltage

¥ Dot Answr Mark 02 Winong Answsesr Mark (Megatiee Mark) - 0025 )

Dphions:
| separately ewcibed geraraton
} shunt generator
| Series generator
| compound gensraior
o t AnSwer: shaint
n i beAngesr: shunt gensrator

Queston 114 Wave guides e generally made of
{ Cimect Angwsr Mark T Winong Answes Mark (Negathe Mark) - 0.25 )
Dyption:
JGold
} Baore or alurminium
1P
}HOFE
oeme £ Answer: Bronz of akuminiim
n i e Answer: Brono or slamendam

Questcn 115 In conbmuous temae 5 used 1o obtain iransfer function
f Coamect Anmwer Mark: 1 Wirong Answses Mark (Megaie Mark) - 025 )
Options:

| Laplace Transtorm

} Z-Transfom

1 8ath

} Hora

oere | Answer: Laplace Translom
n | ie&nswer: Laplace Trnsfom

Doesdon 118, WSWR for an ideal Anbenna &
i Coract Anawer Mark -3 Winong Ansvesr Mark (Negative Mark) - OIS
Dptions:
o
1]
n
5
oime § Answer: 1
m b e Angwer 1

‘Quaston 117. Myguist lity berst i & gy and its advantagas are
§ Cioamect Anmwer Mark 1 & Wiong Answser Mark (Megatie Mark) - 0.25 )

Dplions:

| Apphcable io axpersmanal resuls of frequency responss: of opsen loop sysbem
) olosed lnop stability can be predicied from opentoop results

1| ind icatees how 10 siabilize an wistable systom

AR the abovo

oare | Answer: Al ihe above
n i fmAnswer: All the above

Duestaon 118 PMBC (IVdrsonvad) s usod for
i Coract Anawer Mark -2 Winong Ansvesr Mark (Negative Mark) - 0UIS

1 AC curmam

]H:rt:'llohnlp
AL Voltage

b AN of the abova

e | Answer: DC Voltage
n i teAnswer AC Vollags

O e A are always b in
{ Ciomeact Answer Mark 1 Winang Answer Mark (Negathe Mark) - 035 §
Options:
| Sares
| Pasralked
| st
} Hona
oare | Angwer: Senes
n i ieAnswer: sihar

Quaston 120 A connacting probe in CRD causes
{ Ciorect Anawer Mark (4 Wrong Answeer Mark (Negatine Marnk) - 025}
Dptions:

1 laading

} distomicn o the wave

]I:uﬂ.h

| Hora

o § Angwer: Noneg
n b e Answer: both

Duestcn 121, The standeng wave Rt (SWH] equal bo unity implies that
i Coameact Anmwer Mark 0 & Winong Answee Mark (Negatiee Mark) - 0U25
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Oprtions:
| The tramsmission e is open circutsd
} The transmission ling is shart circusted
| Tha tramsmession e charactenstic impedance is Zero
} The transmission ling charactanstic ampedancs s sgual to Load impsdancs:
oere | Answer: Tha I ch np=sda 5 equal o Load mpedance
n i felnswer: Tha fina & equal io Load mpadance

Quasiaon 172 Intreduction of panty bit for emor detection does nat imply
i Cowract Anawer Mark -3 Winong Ansvesr Mark (Negative Mark) - 0UIS
Dptions:

J Increasa i the lengihs of the cods

] imthe hard 5l
| sARDmate ereor cormeciion
}all e abowva

o | ANSWE: SA0Mats Sr cormection

n i teAngwer: guiomatic eTor Ccomection

Duaestion 173 Whan AM rmoswer is bunad 10 1200 KHz, the Local oscillaior frequency
{ Comect Answer Mark T Wirong Answer Mark [Negathe Mark) - 0.5}

Dphions:

11200 HHz

} 1055 HHz

121 10 KHz

) TAE KHz

oare | Answer: 1655 BHz
nok B Angwer T45HHz

Duestion 124 Armsinong modaatorn genorates
{ Coerect Anmwer Mark : 2 Wirong Answeer Mark (Negatine Mank) - 025}

Dprtions:
1AM Signal
} Ml signal
1FM Signal
Jboth B EC
oeTe b Answer: FM signal
n i teAngwer: bothB&C

Dueston 125 Spread-Spectnsm mulliplosing is also krow as
{ Ciomeact Answer Mark 03 'Wirang Answes Mark (Hegathe Mark) - 035 §

| Tirma: division Multiplexng

| Frequency divesion Mulipleong

) Code divezion Multiplassng

AR e abosva

ceme t Answer: Cods division Mulbiplaxng
n i teAnswer F o Rt

Quastan 126 which of tha followsng has highast
{ Ciorect Anmwer Mark : 4 Wrong Answeer Mark (Negatine Mank) - 025}
Optiona:
1INTH
JRETES
|RET TS
} TRAP
oere | Anawer: TRAF
ni ieAngwer: TRAP

Questaon 177 Signal flow graph s used 1o obiain the
{ Comect Answar Mark 2 Wrong Answesr Mark (Negathe Man) - 0.25 )
Dptions: .
} stabity of tho systam
} Transtar function of the system
| Controilatiley of tha systam
) obsenabiliy of the systam
oare § Answer: Transfor functon of the sysiem
n i teAngwer: Transfer function of the system

OQuastan 128 Conmider the following mrogram fragment

IDELAY. L¥I H, D010H
LOeDiP: OCH H
MOV A L
ORA H
A A
JNZ Loop
RET

Tha niumbsr of times boop will be amecubed is

{ Comect Answar Mark: 3 Wrong Answer Mark (Hegathe Man - 0.25 )
Options:

116

10

n

} Infinaba

o | Answer: 1
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n i teAnswer: Infinie

Duesian 170 while caloulating cur Routh-Hunwetz, i we have a now of all zeros, the row directly above & & koown as the
¥ Dot Answr Mark 0 1T Winong Answsesr Mark (Megative Mark) - 005 )

Dptions:

1 Aailiary Folynomial
| Paltymamiad

| Transfar function

| Hors:

et Answer: Aasilary Polmomial
noi beAnswer: Aisiary Poknomizl

Duesnon 130 The masimum speed at which the dats can be transmitted on esch channsl of a standard PCM siream =
i Ciowmect Angwer Mark 1 Winong Ansvser Mark (Negathe Marn) - 0.25 )
Opticns:
|4 ks
} 12E kops
12 Mbps
14 Mbps
wime § Answer: 54 kbps
n | imAnswer: 04 kbps

Question 131. Whan a comguter is first bumed on or restarted a specal typa of absokits loader is axscuted calked 2
{ Comect Answer Mark: £ Wrong Answer Mark [Negathe Mank) - 025}

| Compike and Go Loader
| PreBood Loader
| Ralating Loader
| Bootsitan Losder
oure | Angwer: Bootsiap Loader
n i e kngwer: Booisbrap Loader

Quasiaon 132 One of tha following is & dinect enbry npa devices
i Coeract Anawer Mark -8 Winong Ansvesr Mark (Negative Mark) - OIS

Quaston 133 Which of tha f g IP = not assigned to @y nods by netsork plannsr
| Commeact Angweer Mark 2 Wrong Answer Mark (Negathe Mark) - 035 )

Options:
1192.0.0.0
}127.00.1
j1z800.1
| none
oare | Answer: 127001
n i e Answer 127000

Dueston 134 & speech signal oocupying the BW of 300 HI 1o 3KHz, & converted into PCA Sonmat for use in digital communication If the sampling frequancy is 8
¥Hz and aach samgie is guamized inlo 256 levels, tham the oulpul bit rEte wall ba
{ Ciorect Anawer Mark (4 Wrong Answeer Mark (Negatine Mank) - 025}
Dprtions:
1 2048 Ktps
} 1024 Kaps
1250 Kbps
64 Kips
oare § Answer: D4 Kbps
n i b Answer: 1048 Kbes

Dueston 135. The devios which doss not have frequency dependent propertias on its own =
{ Ciomeact Answer Mark 3 Wirang Answesr Mark (Megathe Mark) - 035 )

Dprtions:
| Inducior
} Capascitor
| Rassision
} Al the sbova
oere | Answer: Hesision
m i BeAnswer Aocisbor

Quaston 138 Tha typs of compiters wihich can axecute millons of sstnactions and hilicns of data per second
o Dot Answr Mark 0 3 Winong Answeesr Mark (Megative Mark) - 0025 )

Dprtions:

| Lagicp

} Mini Computar

1 MainFrame computar

| Pessonal Computer

oame © Answrer: MainFramae computer
noi teAnswer Personal Compulsr

Duesten 137. ORACLE =

lote: The Information Provided here is only for reference. It May wary the Original
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{ Comeact Answer Mark 0T Winong Answes Mark (Hegathe Mark) - 035 §
Options:
| an Dperating sysbem
| a R<EME
&N ierprotor
|} A Comipdliar
pame | Anawer: & ADBME
n | EeAnswer: o ROERS

Duestan 138 & circult with & resistor, inductor snd o fiod in sares is
=

{ Commect Angwer Mark 3 Wiong Answes Mark (Megative Mark) - 0.2 |
Options:

12fn

} remians unchangad

11ar2

Fata

oare § Answer: /7

n i toAnseer: remans wnchanged

O 13 physical system whach does not dy cosrect for

Comect Anawer Mark: 2 Wrang Answer Mark (Negaties Mark) - 0,05 }

Options:
| Closed Loop Sysiem

Druestan 140 Signalune analysers aro e (o debect

i Coract Anawer Mark -1 Winong Ansvesr Mark (Negative Mark) - OIS
Dptions:

| digital wavedonm patisms

}digital Logic patiems

| dignal Loges stais

} Hora

oame § Answer: digaal warelom patiems
n i beAnswer: digital Logic pattems

in its output is caled

Duaston 141, The effect used im Pointing Wecbor Wattmetars, for their opearton s

{ Comect Answer Mark 13 Wiong Answer Mark (Negathes Mark) - 0.25 )

Dphons:
1 Huating affect
} Incucton affect
1 Hal affoct
} Hona:
oare | Answer: Hall affect
n i teAnswer: Heatng afiect

Duoeston 142 The speed ot whach senal data & iransmitied is refered io
{ Coerect Anmwer Mark : 3 Wirong Answeer Mark (Negatine Marnk) - 025}

Queston 143, Aepeatars functian in the layer
{ Comect Answer Mark ;1 'Wrang Answer Mark (Negathe Mark) - 025

Dptions:
| Prysical
} DataLink
| Motwork
} Basskan
o | Anawer: Physecal
n i teAnswer Datalink

Daesion 144, An Ambsr LED on Loge probe Indicales

o Dot Arswer Mark 03 Wiong Answsesr Mark (Megative Mark) - 0025 )
‘Options:

]thﬂ.nh

| Low skabe

| Pulsa

| Hors:

oare | Answer: Fulse
n i teAnswer: Pulse

Quaston 145 Tha delay ins in CAO is placed after
{ Coerect Anmwer Mark (2 Wirang Answer Mark (Megatine Mank) - 025}

Dprtions:
1 Horzortad & mplifier

The Information Provided here is only for reference.
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Questaon 186 which of the followsng is not performed by a micropocessor
{ Comect Answar Mark: 1 Wrong Answer Mark (Hegathe Mand - 0.25)
Options:

| Comtrafing the biming of = information fiow

} Pasrfizamming the computing tasks spacificd in a program

| Communicating wih all paripharas usng systam bus

} siomng moils in regsiers

oene t Answer: Controling the timng of a information flow

ni teAnswer O g weith all per using system bus

Guasian 147 The margin between achsal gain and critical gen is & measue of
¥ Dot Answer Mark - & Wrong Ansveser Mark (Megatine Mark) - 0025 )

Dptions:
| Rlabwa statility
} absoluts stabity

sanaithvty

}Gain Margn

paTe T Answer: Gan

n i teAnswer: Gain Margin

Duesnon 148 Transformer works onihe prnciple of
{ Ciemect Angwsr Mark 1 Winong Answes Mark (Negathe Mark) - 0.25 )
Opticns:
J Mutuad inducbion
| Blf | ruduac baceny
1 Boih
| Hona
oeme § Answer: Mirual induction
n i toAnseer: Both

Queston 148 When & signal = given ai "RESET [N snput of a microprocessarn, then
{ Comect Anmwer Mark: & Wrong Answes Mark (Megative Mark) - 0.2 }

Options:
| Rasats the program countes o Zeno
| Resats the Inbernapt ensbis flag
| Resats HLDA
} AR of the above
oame | Answer: A of e above
n i ieAknswer: Resets the program counier bo Zeo

Duestan 150 Whan dealing with signed numbss, MICTo OCEES00S USE
{ Coemect Anmwer Mark: 3 Wiong Answer Mark (Megative Mark) - 035}

Dptions:
1 T oomplemant

O 151, Two & Fort", i thay satisfy pont condrion. The part conditon ndicaies
| Commeact Answeer Mark 1 Wirang Answer Mark (Hegathe Mark) - 0.25 )

| CasTan smising one temmnal is epual 1o the cument leaving the other lanminal
| Casrant @ntening oneg terminal & kaving the othar terminal & diffeent
| Mo owment must enter and [eave o port
AR the abovo
oaTe § Answer: Curent enteding one termminal is equal to the cunrent lesing the othed femmnad
n i imAnswer: Cuneni enienng one terminal s equal 1o the cwrent kaving the oihar teaminal

Doeston 152, The speed of a DOC motor &
{ Comect Anmwer Mark 0 1 Wiong Answer Mark (Megative Mark) - 035}

Dprtions:
|} Dewctly proportianal io back emé and inversely propontional bo flus
} Invsrsaly proportsonal b beck emf and diectly proportons 1o Sus
| Darectly proporticnal to emf and o S
| Invssrsedy proporonad to eont and 1o fius
oame | Answer: Drectly propon onal bo back emf and inversety pronorsonal bo fux
n i teAnswer: Oirectly proportona 1o emd @nd 1o flux

‘Duaston 153 Whan an nstruchon is resd from the memory, it s calied
| Commeact Answeer Mark 2 Winang Answer Mark (Hegatiee Mark) - 0.25 )

Dphions:

| Mamaory Agad cycle

} Falch cycla

| Insinachon cyoke

| My varte cycls

oaTe § Answer: Foich cycla

The Information Provided here is only for reference. It May wary
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n i feAnswer: Fobch cyoks

Diuasiaen 154 How many OE] Layers am coversd in XI5 siandaed
¥ Dot Answer Mark 02 Winong Answsesr Mark (Negative Mark) - 0025 )
Dptions:
IE:
}a
15
b7
oeTe ¢t Angwer: 3
ni teAnswer: 7

Queston 155 Typed matierdacument is o be saved in
{ Cowmect Answer Mark 2 Wiong Answes Mark (Negathe Man) - 0.25 )

Questaon 156, Moving processes from main mamory to desh s calied
{ Comeact Answer Mark 3 Wirong Answes Mark (Hegathe Mark) - 025 )

} Scheduling

}Catching

| Swappeng

I Sqeiing

oame | Anawer: Swaopeng
n | BeAknswer: Caiching

Doesdon 157 The is 5@t (1o 1) if theera is @ carmy from the low nibbla {iowest four bils) bo the hgh nibbés |upper four bits], o & boemosy from Bha high nibbie
{ Cemeact Angwesr Mark T Wiong Answes Mark [Negathe Mark) - 0.25 )

Dptions:

JCarry flag

} Aundiary carry flag

1 Sign flag

} Paity flag

-IM- Bl

mi hl.IIa.r','r.\ﬂrrrlI.'ng

Doasnon 158 ... &5 ansdacinical devica that corverts direct curmant (IeC) ta alternating curment (AC)
{ Comect Answer Mark 03 Wrong Answer Mark (Wegathee Mark) - 0.25 }
Options:
| Rectsfier
| cyclocamarter
1 inverar
AR the abovo
oame | Anawer: bvariar
n i teAnswer: Ineores

Dueston 159 Basss Interface in ISDN refees fo dhe transmession speed of
i Coract Anawer Mark -3 Winong Answesr Mark (Negative Mark) - OIS
Dprtions:
164 kbgs:
} 12E kps
| 144 ks
| 1.544 Mbps
e § Answer: 144 kbps
n i e Anawer: 144 kbps

Queston 160. Which of the following is disadvantage of paralisl data transmisson
{ Comeact Answer Mark 3 Winang Answes Mark (Hegative Mark) - 035 §
Options:
| Speed is low
} Data cannoi fiow an boih directions
1ot of providing many registars, conductons oo s considerablo
| AN the abova
oame | Answer: cost of providing many conduchors sic &
n i teAnswer: Datacannot flow in bath directons

Quastan 161, For o stable system, the roots of the characheristic squabion must ks an
{ Ciorect Anmwer Mark : 3 Wirong Answeer Mark (Negatine Marnk) - 025}

Dptions:
1 Real Axis only
} Imagsnary axis only
1 Left Half plana
| Rigtt Half plana

oere § Answer: Left Half plans
m i i Anseer: Left Half plane

Questcn 182 A 75 ohm line = ierminated to & boed of 100 ohms, and has some incadent power. Perceniage of reflected povar s
i Conmect Anmweer Mark : 3 Winong Answer Mark (Negatie Mark) - 0LZ5
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Options:

1%

} 100%

14%

b20%

oare | Anawer: 14%
i beAnawer: 20%

Duasian 163 In @ Nyquist oritens, tha moots of characten sio equation are graen by
i Cowract Anawer Mark -1 Winong Ansvesr Mark (Negative Mark) - OIS
Dptions:
| Podas of ihe open ioop transder function
} Zamoes of the cpen loop transter funciion
| Podes of the Closed loop transfer funciion
} Zoroes of thi closed boom transies uncteon
oere | Answer: Poles of the open loop trensfer functicn
n | ioAnswer: Poles of the Closed koo trans i funcion

Quaston 164, The FSK {with respect to HF Aado tansmissons) has beo iones which ae gananlly

{ Comect Answer Mark: 2 Wrong Answar Mark (Negaties Mark) - 0.25 |

Dptions:
1170 KHz apan
} 1TD Hz apart
1 150 KMz apar
} 150 HE apet
oame | Answer: 170 Hz apart
n i fmAnswer: 170 KHz sner

Dueston 185 [n @ feochack sysiem, cutput is & function of
i Coeract Anawer Mark -2 Winong Ansver Mark (Negative Mark) - 0UIS

Oprtions:
1 Durtpast @ wnpet

oere | Answer: inpui indfmchﬂ?ﬂ
n i teAnswer: Input and fesdback signa

Duesticn 100, The ieam hourAh) is  waithi
{ Cicsmeact Answer Mark 4 'Wirong Answes Mark (Megathe Mark) - 035 §
Options:
| rectifars
} Translormers
| Electromagnats
} Storagae colis
oame | Answer: Siorage cells
ni teAngwer: Storage calls

Quastian 187 Tha power fctor of & souirral cage induction maoor is
{ Cioerect Anamwer Mark : 1 Wirong Answeer Mark (Megatine Marnk) - 025}
Dptions:
1 Lorw at Light inads only
| Low at heavy loads only
1iLov at Light and Heavy loads
} Lo at rated ioad
oere | Answer: Lo at Light loads anly
n i beAnswer: Low 3t hoaay losds only

Queston 168, & UART & usually an sndridual {or part of an) imegrabed cinout wsed for
{ Comect Answar Mar: 1 Wrong Answer Mark (Negathe Mand - 0.25 )
Options:
) Earal
| Paaralled
|} Bath
| Hora
oare t Answer: Saral
n b e Answer: Boih

Duesiicen 163 A transmission line bes reflecton coafficsent "k squal bo 0.2 The VEWR |
{ Cioameact Arsmwar Mark : 4 Wirang Ansvser Mark (Megatie Mark) - 025 )
Dptions:
1o
yo.z
jos
1.5
paTe £ Answer: 15
noi teAnswsr 1.5

Duestan 170 Ifthe Data & present in the instnschion, such typse of instructions ane calied as
{ Ciorect Anmwer Mark : 4 Wrong Answeer Mark (Negatine Mank) - 025}
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n | te Answer Direct adcsmssing

Duaston 171, layar & not prasant in ths TCF/F interface mifesnce compared 1o 05! layers
{ Comeact Answer Mark 0T Wirang Answer Mark (Hegatie Mark) - 025}
Options:
| Transpaort
} Beasin
| intarnat
} Applicatsn
oame | AnSwer Sossion
n i EeAnswer: Indsmal

Quaston 172. With mspect io Opeode DALY, wiech of tha inllowing is correct
{ Corect Anmwer Mark | 2 Wirong Answeer Mark (Negatine Mank) - 0,25}

Dptions:
1 It stands for Decimal adjust sccumulator
b it adds 16-bit data direclly i regsher pes
| Decremant soure by 1
} Increment scurca by 1
oee | Answer: 1 dds 1 6-bit dats deectly in egisiar pairs
n i beAngwer: It stands for Docimal adast sccumalabor

Questian 173, The man desadvantage with Mckk-Cadmium calls is
{ Commect Answer Mark: 3 Wiong Answes Mark (Negathe Mari) : 0.25 )

Options:

| They hawe a high-onergy dens ity

} Thaay can b recharged mone bimes than othée typos. of battenies

| Thay hava 1o ba fully dischared bafose rechangg, berausa suffar fram a memary afiect

AR the above

ooTe | AnSwer: hawa 1o ba ful bafoss rechal [ TR suffer froma affect
ni -mmmmm M, bafore ‘ s muu:rmrsufhrinmmr“?mnﬁnd

Duesian 174 The typacal value Zo La. Charsciensiic impedance of a Coasal cabls is
¥ Dot Ancwer Mark 0 1 Wrong Answsesr Mark (Megatire Mark) - 0025 )

| 75 ohms
} 300 ohms:
1100 chms
} 600 ohms
oame § Answer: TS ohima
n i b Anseer: 7S ohms

Quesan 175 H & Trarsmesson ins & Srminated with & ressiarce equal bo @ charsctensiic impedances
| Comeect Angwr Mark 3 Wirang Answer Mark (Megathe Mark) - 0.25 )

| Thas linss s s will ba maxemiim
bﬂulwmulhhﬂmhbﬂ'ﬂnmmm
1 Tha Stamding Wave Ratio will ks minimism

} Thee Saamding Wave Ratic widl be maximum

oere | Answer: Tha Standing Wave Ratio will bs minimusm

n i leAnswer: The Standing Wave Rabo will be mapemum

Ouasian 178 CT and PT are used gensrally o
§ Cioereact Anwer Mark : 7 wmmumwm:nﬁr
Dptions:
| Stap Lp e respective puamities
} step down the respectse quantities
| Both
} Hona
oeme § Answer: shep doven the IR pective muantities
n i feAnswer: Boih

Duestan 177 What function enatis a user 10 input informatan | in C language) whits the DIogramms is in axecistion
{ Ciemeact Angwsr Mark 7 Wiong Answes Mark [(Negathe Mark) - 0.25 )
Dptions:
' Prini |
}scan |
AR
I sircpy
oame | Angwer: scan f
m i toAnseer: Prnt |

Questacn 178 A 3-phase SIHZ, & pode squimet cage mductiosn motos will un at @ synoronous speed of
{ Comect Answer Mark 2 Wrong Answer Mark (Negathe Mark) - 0.25 )
Dplions:
1960 rpm
b 1000 rgem
1 1500 rpm
b 1600 rgem
came £ Answer: 1000 rpm
no§ fmAnswer: 1500 rpm

Duestan 179 [n @ cnbcally damped system, the dampeng facior of the system is
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{ Comect Answer Mark 3 Wrong Answer Mark (Hegathe Mark) - 035
Drtions:

} Zara

} Larss thean wnity

Uty

} gresaber tham wnity
oaTe § Answer: Linety
n i teAnswer Unity

Quastan 180 Whan two fraquencies FI & F2 a0 appled to tha Harizontal & Wertical Amplfers respectivaly of o CRO, 3 "oevk’ & appeaned on the CRT/ CAD sosoan

‘With refarance 1o tha Lissajous figunes, tha ratio of frequencies F1 & F2 s
{ Costresct Angwer Mark 3 Wirang Answes Mark (Negative Mark) - 095 )

121
}1:2

i1

pE1

e | Answer 11
noi o beAnswer: 11

Questan 131 An Analog iransducer hs ranga 0 - 10Y. Caloulate bas of an A/D converter f tha resohition = 5 my

| Commect Angwer Mark 3 'Wriong Answes Mark (Negathes Mark) - 0.25 )
Dptions:
j10
L
i
| Hora
oene § Answer: 11
ni teAnswer 11

Diuesicn 182 Ch b b i also bnown as
¥ Dot Answer Mark 0 2 Winong Ansvsssr Mark (Megatine Mark) - 0025 )

pae § Answer: Surge inmedancs
n i teAngswer: Orving point impadance

Queston 183, &n sccurats voltmatsr must have an imemal impsdance of
{ Cowrect Angwer Mark 3 Wiong Answes Mark (Negathes Mark) - 0.25 )
Options:
| Vary Low
} Low valua
| vary High Value
) Zam
oere t Answer: Vary High Value
n i ImAnseer Very Low value

Queston 184 The capaciors used in sngl-phase molors hawe no
{ Comect Angwer Mark 12 'Wrong Answes Mark (Megaties Mark) - 025 |

Doesdn 185 antenna s most Sequently used as referance antenna
{ Ciemect Angwesr Mark 3 Wiong Answes Mark [Negathe Mark) - 0.25 )

Dueston 186 Afor resal, CPU begins amecuton of instruction from which mamory address
i Cioamect Anmwer Mark 1 Winong Ancswser Mark (Megathie Mark) - 025 )
Options:
1 0000,
}0001
18000y
FFFFFy
eTe € Answer: 0000
n i b Answsr: 0000,

Duestion 187. Compler convarts

{ Cowract Anmwer Mark 03 Wiong Answes Mark [Megative Mark) - 035}
Dptions:

} Bodrce code o Higher Language
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}'Object cods bo souroe code
| Source code to Maching code
} Dne sowre code to another sounce code:
oere § Answer: S0uT0e COCR 10 Maching coda
n i beAnswer: Source coda to Maching cocs

Questen 188, In a OC Motor, unidirecticnal torgue & produced with. the halo of
i Comect Answer Mark - £ Winong Answses Mark (Negative Mark) - 025 )
Options:

) Brushas

} Cosmmasalor

Jend plates

| Both AL E

e | Angwer. Both ABB

m i beAnswer: end plates

Diuesicn 180 when the DC volimeisr s connecied polaiiies reversad
¥ Dot Answr Mark 0 2 Winong Answsesr Mark (Megative Mark) - 0025 )

| Tha poiniar deflects upscake
} Thaa pointar deflects. downscals
| The pointer remains statsonany
| Hors:
pere | Answer: Tha poirier defiecis downscale
n i beAngesr: The ponded remans stationary

Dueston 190, The power fecior of an AC eecine powe system 15 defined &s the ratio of
{ Ciemect Angwesr Mark 1 Wirong Answes Mark (Negathe Mark) - 0.25)

Dyption:
| real powar flowing bo the load o the apparont powsr in tha cincut
} apparst power i the circut bo the resl power fowing fo the load
1 raal power flowing to ihe load 1o the apparen Yoege inihe cioui
| Hona
oame | Answer: roal povwer flowing to the load 1o the apparent powser in the cirouit
n i teAnswer: apparent powss in tha cinouwt 5o the real power flowing to the lnad

Queston 191, The Rowh-Huraitz cmena is comprised of separaie tests that must be setisfied for & siable system
{ Coamect Anawer Mark ;3 Wiong Answes Mark (Hegathe Mark) - 0025}

11
pa
ja
I4

oame | Anawer: 3
i BeAngwer: I

Quasian 192 The kength of 1P+ Address =
{ Cowrect Angwer Mark 7 Wiong Answes Mark [Negathes Mark) - 0.25 }
Dptions:
132 Bytes
)4 Bylas
18 brytes
2 bits
oiTe § Answer: £
n i teAnswer: B byles

Queston 193 Mose figure s used as figure of ment of
{ Comect Answer Mark <2 Wrong Answes Mark (Hegatie Mark) - 035
Options:
j Dscdlaior
| Amplifiar
1 Mo o
¥ lsolstor
oere | Answer: Ampldier
noi feAnswer: Amgifar

Dueston 194 = an elgcironic devios that reduces 1he amphitude o powsr of @ ssgnal without approciably destorting its wawaform
i Coerect Anawer Mark -2 Winong Ansvesr Mark (Negative Mark) - OIS

Dprtions:
J Aeniplifias
| Atlamsabar
1 Mlier
} AR the above
e | AnSwer: Anenuato
moi beAngwer: Moer

Dueston 195 The bi mie of a dighal commanication system = 34 M bis/sec. The modulaten scheme used s OFSK. The bauwd rate of the system =
{ Coerect Anmwer Mark : 2 Wiroang Answeer Mark (Negatine Mank) - 025}

|34 M bRvsec
} 68 M bitisec
pere ¢ Answer: 17 M bit/sec
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noi e Angwer: B.S M bitisec

Duesison 190 Eaxch Push and FOP operabon involies &t @ flama
¥ Dot Answer Mark & Wirong Ansveesr Mark (Megatie Mark) - 0025 )

| & singla Bit
} & singla Nibbia
| singla Byte
| a Dorabde Byte
oare § Answner: & Doubis Byts
n i teAngesr: a Doubla Byte

Queston 197. The IF of mandard FW Receivers using the 82 1o 108 MHz band is
{ Cioamect Angwer Mark 4 Wiong Ansvser Mark (Megathne Mark) - 025 )

| 455 Kz

} 26 Mz

§ 70 MHz

} M7 MiHz

are § Answer: 10.7 MHz
noi b Answer 455KHz

Questcon 198 The bidge which = used to messure valses of resisiance below 1 ohm is
{ Commect Anmwer Mark - 2 - Wrong Ansser Mark (Megative Mand - 0.25 )

et Answer: Kalvin's Bridga
n i feAngwer: Wheatsione bridge

Doesin 199, In 3 peratisl croud & components must
{ Cowmect Answer Mark: 1 Wiong Answes Mark [Negathe Man - 0.25 )

Dptions:
| have same poienisl difesence across ihem
;hmm’:m Wil
ity the Same cument
b Al the above
oeme | Answer: Neve Seme poilential diferencs across them
n i o Answer: have sams potemial défference awross them

Cuestan 200. Shor crcuted stubs are prefemed 1o open circuled stubs becausa the latier e
| Comect Answer Mark 3 Wirong Answer Mark (Negathe Mark) - 0.25 )
Options:
| More déficul io make
} Moee diffacult io comnsci
| Liabis 1o radeate
} Incapabla of giving a full mnge of reactance's
oare | Answer: Labls io radiate
n i teAnswer: incapable of giveng @ full rangae of eaciance’s
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